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IME: _____________________


1.   IZRAČUNAJ!

4 + 2 = 


8 + 2 = 


7 – 1 =


5 – 0 = 

3 + 5 =


5 + 4 =


5 – 3 =


9 – 7 =

9 + 0 =


3 + 3 =


6 – 2 =


10 – 4=

6 + 4 =


2 + 7 =


4 – 4 =


8 – 5 =

2.  USPOREDI!

2 + 3          7 – 2


4 + 5          1 + 8


10 – 3          6 + 3


8 – 4          9 – 9


5 + 5          10 – 0

2 + 1             7 – 4


3.   IZRAČUNAJ ZBROJ BROJEVA 7 I 2.


  R : ___________________


4.  MONIKA  IMA 9 GODINA, A KARLA 4 GODINE MANJE.  KOLIKO GODINA 

       IMA KARLA?


R: _____________________


O: ______________________________________________________


BROJ BODOVA I OCJENA: __________________

